ASSEMBLY INSTRUCTION

Item No:MF305720AAA IMF305721AAA MF305720AAE /IMF305721AAE

Description : QUEEN BED

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small part
that may have come loose inside the carton during shipment

HARDWARE LIST OF

No. @ Descrption Sketch Size Quanlity
1 | Flat Bolt (o il @1/4"x12mmL  8PCS
2 | Flat Bolt 0 @1/4"x15mmL = 8PCS
3 | Flat Bolt (o @1/4"x40mmL = 4PCS
4 Flat Bolt (o @1/4"x50mmL  14PCS
5 Allen Key I M4 1PC
6 Flat Screw @J4*15mm 5PCS
7 Flat Screw @34*30mm 20PCS

PART LIST OF
No. Descrption Sketch Quanlity
A Headboard Wﬂn. 1PC
B Footboard \ 1PC
Headboard |
Cl Legs Left \ 1PC
Headboard ,
C2  Legs Right 1PC
D Middle Legs ’ 4PCS
E  Middle Ralil 1PCS
F1 | Side Rail Left 1PC
|
F2  Side Ralil Right 1PC
I
G Support Footboard / 1PC
Below Bar
H Rail Support Legs - 1PC
Rectangle ’
| Slats Wooden \ 4PCS
Rectangle
J Slats Wooden 4PCS
Footboard —_—
K Legs Left 1PC
Footboard
L Legs Right 1PC
M Support plate M//@' 2PCS
N Upper bar / 2PCS
O  Upper Rail —_ 2PCS

Y

PAGE 1 OF 6

MADE IN VIET NAM




ASSEMBLY INSTRUCTION

ltem No:MF305720AAA /IMF305721AAA MF305720AAE /IMF305721AAE
Description : QUEEN BED

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small part
that may have come loose inside the carton during shipment

PAGE 2 OF 6

MADE IN VIET NAM




ASSEMBLY INSTRUCTION

ltem No:MF305720AAA /IMF305721AAA MF305720AAE /IMF305721AAE
Description : QUEEN BED

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small part
that may have come loose inside the carton during shipment

Option 1; i
<
L
M
:
Option 2:
<>
<>
- -
- 1
g
AN / :
0 fff@ \/
M

PAGE 3 OF 6 MADE IN VIET NAM




ASSEMBLY INSTRUCTION

ltem No:MF305720AAA /IMF305721AAA MF305720AAE /IMF305721AAE
Description : QUEEN BED

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small part
that may have come loose inside the carton during shipment

Option 3: e

(/0
Y

(/0

I/Q

(/0

Option 4: f
/ L
2 N g

PAGE 4 OF 6 MADE IN VIET NAM




ASSEMBLY INSTRUCTION

ltem No:MF305720AAA IMF305721AAA MF305720AAE /MF:
Description : QUEEN BED

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small part
that may have come loose inside the carton during shipment

"

/@F

~
A
2
B
N !

>
>
i RN
)

Option 5: P

Option 6:

<

N

B

| il \ i
/

PAGE 5 OF 6 MADE IN VIET NAM




ASSEMBLY INSTRUCTION

ltem No:MF305720AAA /IMF305721AAA MF305720AAE /IMF305721AAE
Description : QUEEN BED

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small part
that may have come loose inside the carton during shipment

Option 7:

Option 8:

Y

PAGE 6 OF 6 MADE IN VIET NAM




